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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry


















PROFIT AND LOSS — 1 (Basic Question) l MATHS WITH SACHIN BALIYAN SIR

/ = /8%'/‘ !
\;;z./
4










PROFIT AND LOSS — 1 (Basic Question)| MATHS WITH SACHIN BALIYAN SIR

An article is sold at a Loss of

, calculated at selling Price .
then

find the ratio of CP and SP ?
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If t Price of a article is
@of its Saﬁng Price .

profit or loss % will be?
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PROFIT AND LOSS — 1 (Basic Question)| MATHS WITH SACHIN BALIYAN SIR

er purchased an article for000 It sold it
TF gHEACR o

(a) 5000 {{) 7000 (c) 6500 (d) 8000
(e) None of these
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A shopkeeper (sold/an

- article at 122 % loss at

. find the Th
a 490 I
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(a) 560
(d) 540

(b) 420 (c) 350
(e) None of these
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UHh gHEGR 9
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¥ 3WHT aEARF P AT
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(a)20% (b) 10%

(c) 14.28% (d) 16.67%
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PROFIT AND LOSS — 1 (Basic Question)| MATHS WITH SACHIN BALIYAN SIR

A shopkeeper chased a
] bed sheet f & sold it
P2 lo] 5P at the Profit of 10% on S.P.

Find the SP? T# F&EqR &
/\ 450 ¥ T T&H @FA $r eI

gt AR O 7o W 10% &
W a9 fGan R@wa 7o

40
N/ A d A
(a) 495 v(»%)O (c) 505
)/40 (d) 515 (e) None of these
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A shopkeeper purchase a book & a bag l’o

respectively. He sold them at 28 — 0/0 loss & 37-5% prol

Find the total P/L % in entire transaction.
U&H 3600 & f<
7’0}7 m v dr 'gg gl 38X 3¢
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(a) 8.59% L %8 59% P

(c) 5.59% L (d) 5.59% P 8 |
(e) None of these
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A shopkeeper purchased two books if their Cost price a
ratio 2:3 & sold them at the loss of 10% & profit of 15%
respectively. The Selling Price of 2nd book is 1380 . Find Selling
Price of Ist book? U IHIGR &l &+ @Gl
fg 3o FHT 2: 3 F Haua H § IR 3
FAA: 10% o 3R 15% & 187 9 F=7 I
ol gFa &1 AwT #qe 1380 B ggell g

L B

&1 @AFT Aoa A1 d FforI?
(a) 800 (b) 900 (c) 1000

(e) None of these
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Cost price of article A is 160 and while selling price
of a article B is 240. If selling price of A is equal to
cost price of B then profit after selling A is
20%.What is the p% on article B? a&] A &1 dRId
Hea 160 ¥ 3R awg 8 &1 RAFT Fqz7 240 81 IR A +1
RFT AT s FARA AT F TR E A A F dTA &
e A 20% €1 FF B pv AT 82

(a) 16.66% (b)50% (c) 25%

(d) 20% (e) None of these
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A shopkeeper sold an article at 2713—1 % loss for 1680. Had
: 6. : 2

it been sold at 42 = % pro;'n. Find S.P.? Teh GHI«iCY
7 1680 F fAT 27— THAA W TF TF]
ATT| IO FH 427 % A G A4 v | A
R%T 7o 7 F:?

(a) 3500 (b) 3300 (c) 3000
(d) 2800 (e) None of these
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Y
A Chair is sold at 16; 0% Profit. Had it been
sold for 120 more , the profit would have been
20%. Find the Cost Price of Chair. Uch Wﬁ

16—% AT 9T o=t S Bl 3R
sﬁmommﬁwm ar

AT 20% BTl FH HY ARG Hed
AT HITATY

(a) 3600 (b) 2500
(c) 3000 (d) 3400
(e) None of these



PROFIT AND LOSS - 1 (Basic Question)

MATHS WITH SACHIN BALIYAN SIR

A person wants to sell his article with
28;% profit but he actually sold at

12%% loss for 980 . find at what price

he wants to sell? T& =gfFd 39 4@ HI
zs“o/oama»'mmm%aﬁ?aa'g

W#osa*fﬁﬂ’nz %ff{lﬁtﬂﬂ'ﬂT

T ¥ aF W B 9 agaT aear 87
(a) 1480 (b) 1440

(c) 1250 (d) 1340

(e) None of these






